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	2 - x = x - 2
	3 + x = x + 3
	x + 5 = x - 3

	3x - 5 = 2x
	-y – 8 + 6y = -8 + 5y  
	2(x +1) = 2x +1

	[bookmark: _GoBack]2(c + 3) = c - 13
	7x +14 = 7(x + 2)
	-t + 5 = t - 19

	4n + 6 – 2n = 2(n + 3)
	5x - 5 = 5(x +1)
	-v + 5 + 6v = 1 + 5v + 3



Claims, Evidence, and Reasoning: I know this because…	   	    Name _____________________________
Choose one equation from each section.  Solve each equation.  Explain how you know that that equation fits in that category.
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